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SN WSS
Hu: ARAN(USH)
Sl RIAZA Y BM=X AW CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
301 dEtE2XZ 2,700 2,700 0
12 JEtE &2 2,700 2,700 0
OF0I XX XOHZ2AH WEs Ba=2 2,700,000 2,700
scletdes KA 121,950 121,950 0
301 et X = 121,950 121,950 0
0BbSHE-0&-EtEes243 121,950 121,950 0
Ood=¢ 117,000
|24 300,000& * 25 * 12& 90,000
-0 3 300,000 * 25 * 23] 15,000
-5l g Mg
20,000& * 259 * 23| = 12& 12,000
Oet&EgAZ 50,000& » 99 = 13| 4,950
AN & 11,040 9,580 1,460
301 dEtE2dZ 11,040 9,580 1,460
04 It LEHUHAL XA 11,040 9,580 1,460
OO0kAHI 4,000 * 4% = 1JHCH = 365 5,840
o229 ¥ thghyl 100,000& = 1JHCH = 12& 1,200
OXt&= X gl 4,000,000& * 1JHCH 4,000
SSANE A2l 290,507 246,918 43,589
101 @121l 51,150 9,155 41,995
04 JI2ZtH 22 XNHEE =+ 51,150 9,155 41,995
OAIJIXIEH & SSAI&22 of 12,788
-= 72,000& * 29 = 80 11,520
MBS Ja8g=2 11,520,000& * 11% 1,268
OF A& 2 38,362
-=0 72,000 * 29 x 240 34,560
-AISIEE JI22REZ 34,560,000& * 11% 3,802
201 LEtE2 Y| 163,717 164,763 A 1,046
01 At 22l Yl 19,116 17,856 1,260
O&J|otNM2e 2 180,000& * 123] 2,160
O&EJ|ItAE2Ae| U=+ (HANTA)
180,000& * 123] 2,160
Oagtotdate] s~ 200,000& * 123 2,400
OigotEze (atas2(HUTA)
170,000& * 123] 2,040
ONHAHAZFE Foi8EI 84
450,000 * 23] 900
OFAN 29 =22 200,000 * 23] * 2004 800
O&Sx HA 400,000& * 13 400
O&FA st& 4 Hid &%t
20,000 = 704 ~ 12& 1,680
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A WSH
Hu: ARAN(USH)
Sl BIREA 2 M= X (S &2)
- — -Ill_i'
S EH B (BH) - MBAY - BAS Ol At o ﬁ}l&ﬁ HRE2
b |

OA&EZH |RA2e A28 28 7L
1 0

Oglaal 2IHEFI| Axt
56,0009 * 20§ » 12€
Oglal ZIIHHI| UXHHATAl)
56,0008 « 10§ * 128
OEHZD1 HAl TH& =22  600,0008 = 43
02 S32gHl
O=228= 2 HMA
-HI Y 2222 1,200,000 = 12&
-HI 2 SEQRB(HAUSA
2,500,000 = 12&
A5 2 FAXR 2 100,0008 * 12&
M3 2 FAXRB(EAZA)
100,0008 * 12&
-IEMESE 23 1,000,000 = 128
SNSASE QB(HATA
3,500,000 = 128
-HASZEAE ®IIe3 100,0008 * 12&
-HAZEAE 22 1,000,0002
SN R E S 100,0008 = 23]
—SEIENH RS (HASZA) 100,0008 * 23]
-ghst el Xt #ols 50,0008 * 23]
-|Mgs A2 (HAA) 19,8008 + 129
—RAYE AIR2(FAUXXME)

13,200 » 12&
-HAOIETV OISE(HAUZAEEHA)
45,0008 = 128
)
0,000& = 128

30,000& » 123

-HAXEE PSS 23 5,000& » 12&
OAIZ ZHl =Xl

-A =S XHI(1,903m" ) 4,000,000&

SEAEANSEA HERXL (1,177)

2,000,00024
S EL=-N D] 200,0002! * 1CH
012 SXBR(H HA Y HACASHL
) 3,000,000 * 80%
3 270,000 * 5974 4 * 80%
MASZE &) 2 S423

300,000& * 12043

960

1,200

1,344

672
2,400
144,601
105,217
14,400

30,000
1,200

1,200
12,000

42,000
1,200
1,000

200
200
100
238

159

540

360

360

60
27,344
4,000

2,000
200

2,400
12,744

3,600
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SN YSe
HE: QIHSAH(YSO)
Sl BIREA L BMEX AW CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei HnE2
HMEZO S JIE A2ZHl
3,000,008 * 80% 2,400
OXtrad et 5,080
-s835e 2,200,00020 * 2CH * 80% 3,520
YBAELE 10,0008 * 3CH * 23] 600
- EE =SXXZY 100,008 + 128 * 80% 960
ORAAYAAHY 200,008 * 122 2,400
ORUAYAI AL (HATAI) 200,002 * 122 2,400
OHl A HAIAE 55,0002 * 24 * 122 1,320
OWANEY Yol ®IIQ3
70,0008 + 128 840
401 NEHIL 2 THYI 75,640 73,000 2,640
01 Al bl 75,640 73,000 2,640
OHM ZAB2 BA 3,000, 0002 3,000
OZAM 2 25 DA A 4,000, 0002 4,000
OHM 25 &XBA 9,000, 0002 9,000
OND HSDA HIIBA 3,040, 0008 3,040
OBA ZEHE HIIBA 13,200,000% 13,200
OHMEA X4 BEE2 HU 2 28 £
=Y 10,000, 0002 10,000
OWSE =X32 AL Fy| 9,000, 0002 9,000
OWSE HFSTME AL 15,000,000 15,000
OFAM e A DHSM 9,400, 0002 9,400
RS M 2 ZE M X 1,800 800 1,000
201 YLer2 A H| 1,800 800 1,000
01 AL 2 el bl 1,800 800 1,000
OXNH AN ZREANSIQ BA Sg
20,0008 * 15% * 63| 1,800
SOHARDAYET (YSH) 240,600 237,100 3,500
ARRALEN 240,600 237,100 3,500
DRHZ L ARDAY 86,600 86,600 0
201 Yer2 | 6,600 6,600 0
02 B2l 6,600 6,600 0
OD-DAS(2I YR K2l A2 E)B2Y R 22
gl 1,650,008 * 47| 6,600
401 N EHIL 2 THYI 80,000 80,000 0
01 Al bl 65,000 65,000 0
OE2 S A& R4 50,000, 000%! 50,000
O S0EE2 MEXY 10,000,000 10,000
OARRAE NX S SFS4Hl 5,000,000 5,000
03 Al = Ch bl 15,000 15,000 0
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SN WSS
M SHATDANASE(YSD)
Sl ARBAYE CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Otz 2 si4=0 ZBlgx= 10,000,000 10,000
ORMEEY Ax2 5,000, 0002 5,000
22U THAMY 4,000 4,500 A500
206 T 2 bl 2,000 2,500 A500
01 M2 bl 2,000 2,500 A500
OBLZH M2 7 2,500,008 * 80% 2,000
401 AIEHIL 201 bI 2,000 2,000 0
03 A& S THHl 2,000 2,000 0
OBLZ It AXE 2,000,0002! 2,000
Z 0130101 &t 150,000 146,000 4,000
401 AIEHI L 2 THHI 96,800 146,000 49,200
01 Al bl 96,800 146,000 249,200
OWSE g}l Ot EXNA SXAY
52,800,000 52,800
OUSH FOHE XYY L 5 =4
22,000,000 22,000
OUSH HHIXDIZ XS 4X
22,000,002 22,000
405 Tt aHF St 53,200 0 53,200
01 AU 2B St 53,200 0 53,200
OUSH B MEXUS 98 LEHE KED|
29 22,000,000 22,000
OW22 Bel Zy 7 22,000,0002! 22,000
OBZII# 2sXBI| &3 9,200, 0002 9,200
BHL A (YSH) 152,049 162,124 ~10,075
SIEEETCT)) 152,049 162,124 ~10,075
SJEE 152,049 162,124 ~10,075
201 Lur2 HH| 83,227 83,304 ATT
01 At 22l bl 59,696 61,260 A1,564
OgR+Z(Y=ZH) 14,340,0002! 14,340
Ogur gl 8,838,0002 8,838
o2zl 7,990, 0002 7,990
O=ADI YRE 200,008 * 3CH * 122 7,200
OB4I X2 40,0008 * 504 * 128 2,400
OARE U (HATA) 1,000,0002 1,000
OMHEY 225 7yl 7,928
iy oal 1,880
E4
40,0008 * 3CH = 4Z = 23] * 90% 9,504
cd 440,000 * 3CH * 23] * 90% 2,376
-~QUUTRIE 200,002 * 120H * 28 * 90% 4,320
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% = o
HHSAAL (BED)
Jl2ZH(esH) tel &)
SN HH-S(BN) - MBAY - B il HlnE2
—-FAX 120,000& * 200 * 33 * 90% 648
-HE2d3 600,000& = 2CH = 13l = 90% 1,080
02 3323l 28,531 27,044 1,487
02323 2 HA(2ER3) 26,400,000& 26,400
OdHFZHl KA =Hl 2,131
-CtIIsS AR 121
1,300,000 = 28CH = 5% = 70% 1,274
-Zgg 4,000,000 = 15CH = 2% * 70% 840
—-FAX 600,000& * 2CH * 2% * 70% 17
202 04l 49,140 62,100 212,960
02 M0 49,140 62,100 212,960
OEHNHH 225,000 = 269 = 128 = 70% 49,140
203 H R =&l 12,440 11,720 720
01 J22FHR2=EI 6,600 6,600 0
oz 550,000& = 12& 6,600
02 It =AY 1,040 920 120
O A& ZAH| 40,000& * 269H 1,040
04 EAN2IHR2F=EHI 4,800 4,200 600
ORN2IYS A 400,000& = 12& 4,800
405 TtakF S| 2,242 0 2,242
01 AL ES | 2,242 0 2,242
OAMEE & 2¢ 1,540,000& * 1OH 1,540
OARE X #¢ 353,000& =« 1CH 353
OAMRE FAX < 349,000& = 10CH 349
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